Section 3 Session 6
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7 80-=10 b 1 Double the largest score.
8 L x?2 s 2  Double the smallest score.
9 8x5 — 3 Double Alex’s score.
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10 6x 10 = & Double Poppy's score.
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1 2lots of Tk is

% Double is 32.

5 10 boxes of 5 cakes

5 Double is 30.

6 8 boxes of 2 cakes

"+  2 lots of 17 is

7 10 boxes of 10 cakes

6 8 multiplied by 5 is @ @ @ @ '
7 7 multiplied by 10 is ® O e © ® 2

8 1k shared by 2 is

5 9 multiplied by 2 is

Share 50 marbles between 5.

q 35 shared by 5 s q Share 50 marbles between 10.

10 30 shared by 10 is : 10 Share 16 marbles between 2.

34




